H & 0l & AHS B Ml A

2t
S8 Ma(83/HDI2)
TAEE X4 (SHol: & 2)
LA BRAE) - RN - BAS of v e HIDE2
31,340,737 33,075,635 A1,734,898
= 9,200
[ 780,000
= 161,360
Al 30,390, 177
£ g3 HMel(Z2Z/HoIS) 31,169,950 32,901,018 A1,731,068
= 9,200
[ 780,000
= 161,360
Al 30,219,390
A =4 16,455,600 16,097,257 A\641,657
= 780,000
[ 156,000
Al 14,519,600
HOISHel 2el - 2= 373,463 154,366 219,097
101 @124H| 34,190 37,489 A3,29
M ORIMZZ2NSE S 34,190 37,489 A3,29
SY ALHDIE A 29 34,190
ool 78 88021 %23 +521 x08F 22,087
S 78 88021 x2% %287 4,418
oMBD PRELL
6,800 x2EH+6& 283 2,285
oW SH| 5,000 2 +5& x285= 1,400
SANBIEEZUNEE S)
4,000,000 *14] 4,000
2ot2E| 22,300 34,400 12,100
AR 22| 21,300 33,400 A12,100
ER=lest=ull 10,500
oHJIE BHEA ADES M
1,000& *50001 x4 2,000
oAU M S M= 2= M&
1,0002*1,00001 15 1,000
oHJl=2 HdXc et E2= MR
2,500 *5000H*25 2,500
oAIEE HIIZ 28 N=83H M
1,000& *50001 25 1,000
oKpiol Yl BT S|
2,000,000 221 4,000
Ogxz 10,800
cHDIS(ASE AL XFE) Xt E& Xt
g At 900,000& * 122 10,800
02 s5=34l 1,000 1,000 0
OXtg - &=t 1,000
oty K& 1,000,0002 %14 1,000
202 04| 2,720 3,000 A280




A =2t
M HDI2 58% H2l(2/HIIS)
&2l JHRE TAIEE =F (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 2,720 3,000 A280
OHDIStE XMelgA, & - & - Al - =
gsHs 110,000 x2H 22 23] 880
OHDISZ2IY HYDE L 245 HOILH &
A 110,000 x2EH*x2 2 +23] 880
O=sdIOIE & A8 A=RE ZA
20,0003 x2H x4 «63 960
301 LEtE NS 313,878 79,102 234,776
14 IIEt2d3 313,878 79,102 234,776
020243 AHUlol + A2 313,878
CRUMBAL(ALY AYETE)
1,749,230 x2F ~ 128 41,982
coouErS (BT He)
1,749,230 x5« 12& 104,954
cQUAUSTLH(AHHS 22)
839,630 *12 113 9,23
oSHSEXID U SHHYY)
52,852,800 2 105,706
oRATN 4,000,000 »13¥ 52,000
305 Hia =S 375 375
01 that=S 375 375
OstZgal 10 S adl 24=
75,0003 #5214 375
=cl0lE Xel X3 1,560,000 1,731,310 A171,310
[ 780,000
= 156,000
Al 624,000
402 QIF X201 & 1,560,000 1,731,310 A171,310
= 780,000
< 156,000
Al 624,000
03 2IZHRAETAIHHI 1,560,000 1,731,310 171,310
O=dIOIE XMl & XNSHEAE
1,560,000,000& » 14 1,560,000
= 780,000
[ 156,000
Al 624,000
HEHDIZ =8 - 28 & JOI2FE A 12,587,814 13,273,414 A685,600
202 04l 1,780 2,280 A500
01 =LHAHI 1,780 2,280 A500
OADHAl BAE X883
20,0003 2H 2 x 123 960
OFAE HAX HXI0H
110,000& x2& 2 440
OgxlHIIZ XMel 84 20,0002 82 160




A =2t
¥ ol &238 M(83/HDI=2)
Rl JHREE TAIEE XY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLTHaH o eEnS
110,000 #23] 220
207 ARl 20,000 20,000
01 A1E9H| 20,000 20,000
O20243 - d2iDIE =&, 22 HUSH &
B9 20,000,000 * 14! 20,000
307 212+01& 1,924,813 2,309,776 384,963
05 2ItRIE = 1,924,813 2,309,776 384,963
OUgHDIZ +&82Lxel Ut 29
1,924,813,000& x14] 1,924,813
308 AHXIEMSOIE 9,976,108 9,976,108
18 SIS0t HAS A 9,976,108 9,976,108
OZFLUHAY S 2 (L2HIIS =8
oo Y Jl2HA-AN)
9,976, 108,000 * 14 9,976,108
403 AXIEHHSA=Z01d 665,113 885,250 N220,137
02 SVI2S0 U H=E 2 EAIEI 665,113 885,250 N220,137
OZFLUHAY AS 2 (L2HIIE =8
28 L It2EA-X=)
665,113,000 x14] 665,113
OISO 0= Jt3D| &2 &= 20,000 26,300 26,300
201 er2 3| 10,000 16,300 26,300
01 At2t2lt] 10,000 16,300 26,300
Odit=3=H| 10,000
oc¥ZEE=s =3 7Y 5,300
—PPIECH 3002 +10,0000H 3,000
=& A 3,000 *500H 1,500
- 2,500 *20EF* 122 600
—OlIR 4,000 50 200
oc¥Zgs U 2= MH 4,700
—sg 80,000% x20H 2:+23] 3,200
-E82 dEX H= 1502 %10,0000H 1,500
303 Za= 10,000 10,000
01 Za= 10,000 10,000
O0LSt2 t=I1R)| Hags 2+ SY
S Zas 5,000,000& 22 10,000
HIISSEM 3% 914,323 911,867 2,456
201 fet= 3| 100,614 146,374 N\45,760
01 AtR2te|H] 92,614 138,374 N45,760
Oget=EH| 91,690
oEHIIZ BHEAD AR ME
130@ %350, 0000HK 45,500
oMM BHEXNHE AEIH(SHS HHEE
) 230& *5,0000H 1,180




SN KREETY
¥ ol &238 M(83/HDI=2)
el JhRe EAEE 2 (Gt H2)
M- B SRASH) - HRAR - B2 of v e HIDE2
SHBHDIZ Z2H 2= B DXE
(R, dlE S) 18,040
—AEBIAH 4203 %2 ,0000K 840
— =X 20,0003 *60IH A 1,200
- HEHII=S SEH HHEAL Al E2
S R 100&!%5,0000H*22] 1,000
-85 ZAIGt0HcH 225 2 3,000
- BHEd 2l 200,000&*10H 2,000
S [=EEN= 50,0002 %204 1,000
—EYS)| FDW AFFE L FHEI(0HY
g) 150, 0002 *80H A 12,000
oHB =2 THAIS Ot 2
1,500&#5,000& 7,500
oHA=E ARISAl JHM SR 28
g M 5,000,000 * 14 5,000
oHEHIIE ADE HISAD(Y, &) 2
TN 11,000,000 %144 1,000
STEEIIS 47 I2SIEt 2AIjH A B
3,500,000 *14] 3,500
Ozels9l 924
cHIISSEMNSE 22& 1 RUFEA
4 23 (aEdn) 77,0002+ 123 924
2 52434l 8,000 8,000 0
OAlE &I Xl 8,000
oZAIBtHIEH |X2tel
5,000,000& *14] 5,000
o=2YSI| ZAIFt0et Ol&d|
300,000& *107H 2 3,000
203 HR=H] 1,800 2,000 A200
03 A=A 2= 1,800 2,000 A200
OFaxdlg=d 1,800,000 14| 1,800
206 M=l 622,164 611,748 10,416
01 MZH| 622,164 611,748 10,416
OdHIIZ SEH S5 NHOHY) 320,520
oY= 54 31&%20,00001~ 128 7,440
oBtE 104 38& 80,0000~ 12& 36,480
odeE 204 5724+90,0000H*12& 61,560
ogdEtE 504 1243+90, 0000 * 122 133,920
ogdttE 754 169& 40,0000 122 81,120
OHDISZEH 8 M (HAIE SF) 280,680
oA 104 412 +80,0000H*12& 39,360
SMAHE 20 ¢ 583 %270,0000H* 12& 187,920
oMAHE 30 ¢ 892 +50,0000K* 12& 53,400
OCHDISZEM 85 N (38 85) 20,964
oESEE 501/ 1242 %10,0000H*12& 14,880




SN KREETY
¥ ol &238 M(83/HDI=2)
el JhRe EAEE 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o538 751 16931+3,00001* 12 6,084
308 AXIMSOIA 161,745 101,745 60,000
18 SIS0t HAS A 161,745 101,745 60,000
OSENsE & SA=F W= AEAH S
220 Al 101,745,00024% 14! 101,745
OXIREE AIRIOIAl Jie ZABHQl 2D
= 60,000,000 * 14| 60,000
401 Al HIZL 01| 28,000 50,000 22,000
01 Al&H| 28,000 50,000 22,000
OXgD| S8 SI1 2AI9H0ICH X
28,000,000& * 14 28,000
ArZel Zetit HeEE 3,260,89% 3,585,727 N\324,832
= 9,200
= 5,360
Al 3,246,335
SASF HYIS Xl 124,680 129,3% AN4,715
101 @124H| 19,680 20,935 A1,255
MU IIRINZZE2NSES 19,680 20,935 A1,255
OSASHdIl BiE £ 12183 AIS8Ea X
=84 19,680
oQIFY 39,4403 x2S +52U x34 13,410
oFxFd 30,4403 2H »345= 2,682
MR BELY
3,400 x2H+62U #34 == 1,388
CAZIEER(AUEE, LEAIIQRAEH)
2,200,000& *14! 2,200
201 2= 44,800 48,600 23,800
01 AtR2t2lt] 44,800 48,600 23,800
OSASRHIIZ =43 HRES(AEH)
NEN 39,000
SAPE=F=! 2002 #5,5000H* 12& 13,200
=138 25,800
-34 303 *400,0000H 12,000
=51 303 %260, 0000HK 7,800
—-120¢ 30& *200,0000H 6,000
OSAE2= HJIZS g & 2 2= &
1002+30,0000H*12 3,000
OSAlEF HII= e & 2 82 Y
NES 80,000& *1094 2-*12] 800
O8AER HIlg 82 =3I MHE (s
=& 5) 10,0002 *500H+42] 2,000
202 04dl 1,320 1,700 A380
01 =LHNHI 1,320 1,700 A380
OSAER HIIE M2 =8us 4
110,000 x2EH*x2 2 +23] 880




SN RrelEs
I IS 58X Ml (2A/HDIS)
el ArEel Bt MEsS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OS42% HII2 22 < Yy Ha &
ZIX| #IRIOH 10,0002 +22 22 #13] 440
206 THZH 500 500
01 M=l 500 500
OSASRHIIE +HEII(1202) HYE 2
2 50,0008 % 1074 500
301 LBHEXB 3,900 3,900
14 JIEH2 A3 3,900 3,900
OBSFE SASMYD| 22 L4EK o
HIEE 3,900
o4 1,000,00081 %170 & 1,000
o * 700, 00024 20K A 1,400
o o 500, 0008 %374 & 1,500
307 QI2H0I A 54,480 53,760 720
05 RIZtQIErZ 54,480 53,760 720
OBSFE SASRHIIS 2412 A
= 54,480
ot 1,200941, 2250 %23 » 122 35,280
oRFIDEED| AIS
2,00021 4007} <25] * 122 19,200
SASRHIIS 23t 40,000 100,000 260,000
401 AI&HIZ 20| 40,000 100,000 260,000
01 Al&t] 40,000 100,000 260,000
OS428 HII2 Z2DI(RFID) &X
2,000, 000! *20CH 40,000
nee =elad 273,350 399,690 126,340
201 Lere | 155,960 171,500 A 15,540
01 AR 22lt| 19,640 30,320 210,680
Ogpt4gH| 12,640
CHEEE =2lE &2 TS MR
1202110,0000H 1,200
CHEESE =2lifE 82 4% MR
80,0002 67l A #33] 1,440
og2HIE 22HIE BE2E M
10,0002 %1,00074 10,000
oyxa 7,000
CHEZS WESAH 28 12 A
700, 0009 %1031 +1CH 7,000
©2 222 136,320 141,180 14,860
022322 2 MA 23,520
cQIZXS WEE IS+ &I - lF
El=r= 70,0002 x28CH » 127 23,520
OAEREYIRTIY] 112,800
oQIBAS MEE NE2HI| KX
300, 0008 *28CH* 12 100,800




2A:

¥ WOl 238 M(83/HDI=2)
el Xp2lo] Mot MHEs (12l M2
2 IE!
SA - B - SASH) - MSALY - ol &t e HIDSZ
o0I8Xls MES MsS=HI| OlHER S
3,000,000 *32] 9,000
cgdsHll=2 sS&tE B2+
500,000 304 A 1,500
oMEE SUIOE(SelotR2) AIESIE
= 500,000 *30H A 1,500
202 04l 880 1,530 A650
01 2LHoIH 880 1,530 2650
ONEES 2l At =2
110,000 x2ZH 22 +23] 880
206 MH=H| 10,400 13,500 A3,100
01 MZHl 10,400 13,500 A3,100
OHgzs =2cl=Hg 7
200,00021*10H 2,000
OMEEE 28 SY=E 7Y
42031%20,000% 8,400
301 EtE N = 61,110 63,160 A2,050
11 #AIAMHIXIE S 20,960 20,960 0
O=HIE MEE8 AL 8= <8t MOILE
QT BA MY B4
50,0002 «8H *23] 800
O=HIE 2cliE 882 A =
70,0002 «8H+32 * 122 20,160
14 JIEt2 8= 40,150 42,200 2,050
OMEE= = Zdl= =
12,000,000& »23] 24,000
OBIRI| BE2 BlY Big )R A1 243
50,0002 x2021 1,000
O0/8 wez sty (D)
15,0002 *500H 7,500
OHAEX w&s AEX
1,50024%1,500SET 2,250
OHAXX wetg SHMSF(2012)
5002 x500&+ 122 3,000
OFZHEZ ne=s SYMSS(102)
2503 =800& 123 2,400
401 AIEHIZL S0 45,000 150,000 105,000
01 AlZHI 45,000 150,000 105,000
OoNgss 2c=He €1
1,000,000 * 159K 2~ 15,000
Og=slls MEs NHs+HI| £X
30,000,000 *1IH 2 30,000
HaEg sUotg £Xx 51,000 102,000 /51,000
401 A2 HIRL 201 51,000 102,000 /51,000
01 Al&H| 51,000 102,000 251,000
OoNgs sUttg(2el6teA) €3
17,000,000 *39H 2 51,000




SN EEE D
2

HH: HOI2 S8X X2l (SF/HIIS)

SRl RSl Zort WES (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Nees Mg 29 1,453,066 1,514,374 161,308

101 Q1A 902,266 885,524 16,742
M IIZRIZERSES 902,266 885,524 16,742
ongsg &g =22 902,266
SRR 81,2009 245U +527 506,688
oFELY 81,2009 242 x50 101,338
oMY 81,2008 %242 * 15 29,232
oMEUZ BHLY
4, 4802 246U +527 33,547
oR35Y4224Y
81,2009 x24 2 162 x250%% 77,952
o2 4E
81,2009 2424 x921 « 150% 26,309
OABIZEZ(UUEE, LOXIIQADH)
70,000,000 %1 4! 70,000
cgx3 50,000,000 * 14! 50,000
o= 7,200
—-=el= 100, 0008 24 2,400
-t 150, 0008 x24% 3,600
- OHEI 5} 50,0008 x24% 1,200
201 Lere | 546,050 624,850 AT78,800
01 AR 22lt| 485,050 558,850 AT73,800
Ogptag| 15,100
oM el HIE 7Y S 10,360
-olE3gEY 800 %3, 5007 2,800
W NS 5,0002* 10074 500
- ZotAE Y 8,00024 804 640
-MBE 1,000,00084 %14 1,000
-THERE 0152 HH7LI(SaH 2%)
500,0002! %574 2,500
-THESENEY JHFLE 22U(204)
50,0008 % 1074 500
-HESESEE IFLE F212(04
) 150,000 271 300
-NESBHEY ZolzY S (830t
CH 1,000kg) 6,6002 *2007H 1,320
-HESENSE 225 PR (2 HO
CH 120kg) 8002 *1,0007H 800
CHESENHE LYg 98t USSR
o 9002 %300 £ 23] 540
oTHESZMHA MI|QMBR| Heiss
= 350, 000! * 122 4,200
Oul=H| 150
CMHEBE NEX 22X =
150, 0002 * 144 150




SN TREE D
=

M D12 58X Hel(2/HIIS)
Chelr XFQl Eotu HEE (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oogxt= 469,800
cMEES HE8H 22A 252 NI 8
N, 5,000,0002 12& 60,000
cHEEE dE &S Mel HIE(SIHA
of) 350,000 %1, 140& 399,000
cMEE8s d88 d4J| A2
50,0003 x 128 *2CH 1,200
STEBE HRANE 28 28 X2 2
A= 100,000 81+ 122 9,600
02 S3=gHl 61,000 66,000 25,000
OsE2= & HA 36,000
cMEEE M8 HJIe=
3,000,000& «12& 36,000
OAlZ &8I Xl 25,000
ocMaES H8F A& & UK
25,000,000 * 14! 25,000
206 M=l 4,750 4,000 750
01 M2t 4,750 4,000 750
OTMEBE(PET, 2, Z0/) AE2S8 HA
& 4,000& *1,000kg 4,000
OHgZs =25 UdE F¢
150,000 *5H 750
SSTH HEESS = A 813,500 651,500 162,000
201 etz 3| 3,500 3,500 0
01 AlR22IH| 3,500 3,500 0
Ogergt| 3,500
oTEXY WEBE 471 S U A
& 2 3,500,000& *14] 3,500
307 elztol & 810,000 648,000 162,000
05 212t =S 810,000 648,000 162,000
Oss=8 Negs8=s =1 S Ul 89
9002 75,000K| CH* 122 810,000
SZ Hbld =H2d=s 20,000 20,000 0
= 2,000
= 2,000
Al 16,000
301 EtE NS 20,000 20,000 0
= 2,000
= 2,000
Al 16,000
14 IIEt2 83 20,000 20,000 0
OgsHbld =H 2&= A&
20,000,000 * 14 20,000
= 2,000
= 2,000




2A:

¥ WOl 238 M(83/HDI=2)
Sl el 2ot MHES (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 16,000
=& HUIE HEAS(XHA) 34,301 47,743 A13,442
301 EtE NS 34,301 47,743 A13,442
14 0Bt 2a s 34,301 47,743 A13,442
OYsHEIE £ 242 X (NFIILIS)
34,300,600 * 14| 34,301
181E3 AFE7H 1,630 3,310 21,680
201 er23| 750 1,950 21,200
01 At2teltl 750 1,950 1,200
Odgt+==t| 750
o1 ES AMSAM o AEIH R E2E
AR KA 2003 +2,0000H 400
ox3J|2 13188 20| 822 ¥ B4
= S 02 *1,0000H 350
202 04l 880 1,360 A480
01 2LHoIH 880 1,360 480
O12188 AISAN HAate] B4
110,000 x2Z 22 #2353 880
SSHotY &3 A2 12,000 24,000 212,000
= 7,200
= 3,360
Al 1,440
401 A& HIX R0 12,000 24,000 A12,000
= 7,200
S 3,360
Al 1,440
01 Al&H| 12,000 24,000 212,000
OgsHlI= ssdoty &5 Ad
6,000,000 +27H 2= 12,000
= 7,200
< 3,360
Al 1,440
OlOIAZH 2els=H . THALS 48,720 127,720 AT79,000
201 er2 3| 48,720 127,720 A79,000
01 AtR2telHl 48,720 127,720 79,000
Odgt+==H| 12,720
o0t0lAE THAIE 2 S22 S & 5,800
—HE 50@*50,0009H 2 2,500
=t 80,000& *109H 2 800
-SEMES=F(202IH) 5002 +5,000& 2,500
oOH0IA THAIE &Y HIS 28 6,920
-olsz2E&g 8003 *3, 5004 2,800
-AMES 1,000,000 *14] 1,000




SN TREE D
=

M Hol2 &85 Mel(SHB/HDI=S)
el ArEel Bt MEsS (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-HESE 0158 t2LI(SE2Hta 25)
500,000 27K 1,000
—0H0| AT Zo|&Y EWM(Z30HH 1,000kg
) 6,600 «200H 1,320
—0l0| AT 22| &Y ppIE O (=4 0HH120kg)
800 *1,0007H 800
Oogxt= 36,000
SOOI AT THAIS =) 2EHXE St
3,000,000 12& 36,000
K= N 29 385,048 309,975 75,073
101 21AH| 213,768 207,245 6,523
M ORNZZ2NSE S 213,768 207,245 6,523
Ot =g 3It 21| 213,768
o2y 81,2002 x6H x5 L x52%= 126,672
oFFrd 81,2002 x6H »52== 25,335
oA\ Xt=g 81,2002 x6& » 154 7,308
CMEQID BREAY
4,480 6 62 523 8,387
oRsRLZZSY
81,2003 62 x 162 x250% 19,488
odZELd 81,2002 x6 & 9L *150% 6,578
CAZIEER(AUEE, EAIIQAEH)
10,000,000& * 14! 10,000
SRS 10,000,000 * 14| 10,000
201 er23 | 81,800 96,800 215,000
01 At2teltl 75,000 90,000 /15,000
Oget+=ZHI 39,000
ol "Lz #E" NS 2E &
2FH 15,000,000 * 14 15,000
oloTEE 7= 24,000,000 * 14! 24,000
ogx= 36,000
oXtd=g I 2g0 g =& - 28t
e Sz 3,000,000& 12& 36,000
02 S3=gHl 6,800 6,800 0
OsE2= & HA 1,800
o&J| - QY - &otr
150,000« 12& 1,800
OAlZ &I Xl 5,000
oXHAEEIPN A & HBIRXIHI(XtH
s) 5,000,000& *14] 5,000
202 04| 1,320 1,530 A210
01 3LHH 1,320 1,530 A210
OXtg =2 I HEES 2c2l=H Hlu &
Al =0l 110,000 «3E 22 +23] 1,320
301 EtE NS 11,440 4,400 7,040




2A:

M HOlE2 s8F HMel(2d/HDI2)
Sl el 2ot MHES (SH9 H2)
SA - BE - C9(3H) - KA - BES Ol &t S B2
Ol &b
11 HALAHIXIEZ 3,440 4,400 2960
OXE =g &I g=t|
50,0002 »8H+33] 1,200
OSE ZAt s =Y
70,000& x4H 22 x4 2,240
14 J|EI2 43 8,000 0 8,000
ORASA S Al B
10,0003 x800H 8,000
401 AIEHIZL 28I 76,720 76,720
01 Al&Hl 76,720 76,720
OX =g I £X 76,720,000 3 14! 76,720
CialZJ] THALE & X3 A 660 156,020 185,360
202 (4t 660 1,020 A360
01 =04 bl 660 1,020 A360
OGalZ8I] HAIE =& KIEAMY HEs S
&A 110,000 *3H 23] 660
O==Al M= 29Y 2,940 2,940
201 2Er2Z 2,940 2,940
01 AFS2t2ltl 2,940 2,940
OgBt==2H| 240
oF =9 M 80,000& *32] 240
Oo2d=g 2,700
oRA3 3o A
150,000 x9H 23] 2,700
MEHDIE Xeldlgt &F 11,813,611 12,664,483 A850,872
SAE HOIE MelAd 228 10,943,621 10,503,674 439,947
201 2Et2 & 141,700 12,100 129,600
01 AFR2t2ltl 141,700 12,100 129,600
Oget===H| 136,700
oFXAEAM 32 L FOIHHF| IHEl 2,100
-8 80,000& 44 2x53] 1,600
-3923 100,000& %53} 500
oCAEHIIE SEXMALE & S48 &
FSAIE EE2E R MA
2,0002*1,0002+23 4,000
oFDIZANRE HHES T Y 2EE 7Y
150,000& x2H 300
oFRAANRRY SFAHARC HIS
150,000 2% 300
CZAIEHIIZ SEMalAE(a2AIL) DI
=8 130,000,000& * 170 A*13] 130,000
o=2g=¢ 5,000
oZAIgHIIZ SEXelAld XS
oIxl 819 &M &g
100,000 *10H +53] 5,000




2A:
KEH
ool

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
202 Ot 3,680 5,150 A1,470
01 =WHO4bI 3,680 5,150 21,470
OZANEHD|IZ SEXM2ALE LN 2
20,0003 x2H x4« 12& 1,920
OA2AAE o SMS HelAlE HTX A8
110, 0003 2 x2 2 +23| 880
OZAEHDISZE MM (a2, SA2SH
2IAE) SRR 2 B9 HA (S S)
110,000 x2F x2 2 23| 880
207 A IHLH| 110,000 110,000
01 21 E9H| 110,000 110,000
OZAEHD IS SEH2IAIE s34 HEt
I A 110,000,000 * 14! 110,000
301 LPENF 85,452 87,805 A2,353
11 SHAIAHIXI A2 3,000 3,000 0
QHIIZHelAd =X =01 &KX As)
50,0002 *30H x2 2+ 13| 3,000
14 JIEt2 432 82,452 84,805 22,353
OZANEHD |2 SEX2IAE 24018 M2
QIMIEIE 15,000,000 & 14 15,000
QHIIZHMEIAE ZAEs Al B4 67,452
©QI21H] 88,0802 2 5 #4475 38,756
oFgg 88,0803 x2H *44== 7,752
ocgiz2ZsY 88,0803 *1.5+2H 43 12,684
oggd2Rsd 88,0802 *1.5+2%H » 14 3,700
oHE8z= 190,000 x2H 122 4,560
307 gIzHol 3,733,166 4,309,982 Ab76,816
05 212t ES 3,733,166 4,309,982 Ab76,816
O24A27 HDIIE H2lA&(B10) 29
3,733, 166,000 * 14 3,733,166
308 AHXIHMSOIH 4,763,182 4,785,157 A21,975
13 BI |2 SUICHEHE A X L EFALAH] 4,423,582 4,467,457 A43,875
OEAEHDIZ2 SeXelAd /S 22
4,423,582,000& 14! 4,423,582
14 JIEtRE 3 339,600 317,700 21,900
OLZtAd HII8 HE Y3
10,0002 *30,000&*1.132 339,600
403 REXISHHIS K201 & 2,106,441 1,303,480 802,961
02 SISO CHSt A2 X RIEAIS I 2,106,441 1,303,480 802,961
OZAIEHDIZ2 SEXeAE g 29
2,106,441,000& 14 2,106,441
SsHE Holg MelAd 29 817,730 910,155 AR, 425
201 L2 | 526,670 613,607 86,937
01 At 22|l 301,650 348,767 N7 AT
Oget=2H| 275,400




SN KREE
M HOlE2 s8F HMel(2d/HDI2)
Sl HEHIIZS Mgt =5 (SH9 H2)
- I
S B SRI(S) - KIRAIYS - Bl ol ke e HimES]
SAAAE CHISA ZAF 242
4,000,000 *30H 2~ 12,000
oaZtAlE IIKIIEE e =8
59,000,000& *14! 59,000
ocsUHEHIIE SEHMelAIE MI|etda
cl O =2 19,400,000& * 14! 19,400
osOHEHIIZ SEMalAL () =
KXot & ol =HIAM =2 21,600
— XI5k 4,500,000 43| 18,000
—ofl== 900,000& *43] 3,600
SHEHDII2 SEXeIAE EIIZA =
== 34,200
—A2AE 700,000 %170 2 700
—HEAIE 6,700,000 +40H 2~ 26,800
- HEAE(MEEE)
6,700,000 *1JH 2 6,700
osUHEMDIZ2 SEXMalAE(A2AIL)
AeH ZH 42
10,600,000 #23! 21,200
osHEHIIE SEXMAE 228 7Y
1,000,000 *6 4 2 +23] 12,000
osHEHIIZ SeHelAlE tHEHDI=
AE =2 96,000
- - 28| 200,000 +200& 40,000
—Xdcldl 280,000 +200E 56,000
Oul=t| 5,250
osOHEHIIZ SEHCIAE 2R3 &
MESEH 2 250,000 214 5,250
Oogxt=z 21,000
oHEHIIZE HMel BiXld Xtz
7,000,000& 33! 21,000
02 Z324l 225,020 264,840 239,820
03322 & HAl 66,020
ocsHEHIIE SEXMEIAIE &g L &
otz 63,000,000& * 14! 63,000
odE SHEHIIZ SEMalAE(A2)
B3 BEeF 20,0002 *10H 2~ 20
osHEHIIE SEHeIAIY Y, =
s 2= 250,000 123 3,000
Odg =l 63,000
oAZAE /7FEH| 63,000,000& * 14! 63,000
OAEZEHIR X 50,000
osUHEMHIIZ SEHMeIAE |l - 2+
50,000,000& *14! 50,000
OXtg - ded| 46,000
oFHAXE 7FUI 11,000,000& % 14! 11,000




SN KREETY
3 EI?I% SEH XMel(8F/HII=2)
Rl dEEHOIZ XM #F EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oFaXE RAlZY
35,000,000 x14] 35,000
202 04dl 3,020 3,580 2560
NENEE 3,020 3,580 1560
OSHZHIIZ SSH2AL B =0l
50,0003 x2H 12128 1,200
OsHEHDI= SEXMCIAIE ZIIZA &2l
50,0003 x2E *52 500
OHJIZ HMelAlE MoILE A 2 88X A
st 110,000 x3Z 22 +23] 1,320
206 MH=H| 39,240 43,488 N4,248
01 M=4l 39,240 43,488 N4,248
OgeitETY (22 U oo
177 ,000& x6J4 2 +43|«5E 21,240
O=&EN ¢ 3, 7503 x200m" x5 A4 2] 18,000
207 ARl 48,800 48,000 800
NEEEET 48,800 48,000 800
OMMD N2 AIBER MR AR
cl E4 48,800,000 * 14 48,800
401 Al HIZ S OHbI 200,000 201,480 1,480
01 A28l 198,560 200,000 21,440
OsHELZHDI=S SSXcIAE JHl
200,000,0002%99.28/100 198,560
03 Al 20HHI 1,440 1,480 vy
OsOHEYEHDIE SSXclAIE Sl
200,000,000& +0.72/100 1,440
CEAXS 2010 E 29 29,700 83,100 53,400
201 er23y| 29,200 82,500 53,300
01 AtR2t2|HI 29,200 82,500 /53,300
Odgt==H| 19,200
oHJl= +=& - 22l
200,000& »40& 8,000
oHJIZ XMl 280,000& *40& 11,200
Oogxz 10,000
oHlE 28 =4 Xt
2,000,000& %52 10,000
202 04| 500 600 A100
01 =LHO LI 500 600 A100
OEAMXIS 2H0IHEE S & =0l
50,0003 x2E +52 500
A2l=AE HE A 19,080 271,020 A251,940
201 Ler=23 | 17,200 20,000 22,800
01 AtR2telHl 17,200 20,000 2,800
ER=last =l 9,200
oAtE2=AlE 2HE At FEEEHZ] i 9,200




SN KREETY
M Hol2 S5 HM2l(2HB/HDI=S)
CHolL MEBHDIZ X2ID|E BE (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=t 80,000& * 157K 2-*42] 4,800
-8E2= 3,000& «300F*43] 3,600
-3oES 200,000 43 800
Oo=zg=4 8,000
cUNEE & FUXAEAM 22 &4
=g 100,000 x20E #4323 8,000
202 04l 880 1,020 A140
01 =LHOHI 880 1,020 A140
OAEEEX & eIl EF 2AHD 12 8
ol 110,000 x2& *43] 880
203 =4l 1,000 1,000
03 A=A 2= 1,000 1,000
O30 TAFISAILE 248 Me) £
1,000,000 *14] 1,000
HEE sOEHIIZ MelAE(0HE) a7 &X 3,480 568,448 ~564,968
201 Ler23 | 2,880 3.120 A240
01 At2teltl 2,880 3,120 A240
Odgt+=ZH| 2,880
oSOHEMHJIIZ SEXeIANE AAFEX =
2l 233l Izl 2,880
=t 80,0003 *3JH 2:*22] 480
-8=2= 3,000 200 +32] 1,800
-22E8= 200,000 32 600
202 048l 600 900 A300
01 2L AL 600 900 A300
OHBE SHEHIIS SEHRINE Nag
Flet Y =ol 50,0002 x3H *43] 600
SYSI| X &5 & gF X 639,844 553,551 86,293
MEHIIS ¥ 80,000 0 80,000
201 el 80,000 0 80,000
01 At22t2lt] 80,000 0 80,000
OO ==DHAte D28 FEH| 8Y
80,000,000& » 14 80,000
SYESI| Ne &= 559,844 553,551 6,293
101 @12A4H| 548,844 533,931 14,913
04 JIZtN22 XS 2+ 548,844 533,931 14,913
Os8SIl ZA 29 548,844
Q12 9,860 x4 A| 280 +3L x52= 492,212
oMBD PAESL
BE0 *4A| 280 3L #5625 42,432
OMIIEER(NEEHE MHEE)
9,000,000& %14 9,000
SEY 25,0002 +x80H *23] 4,000
==\, 15,0003 *80& *13] 1,200




SN KREETY
g3 WolE2 &3 M(83F/HDI=2)
ool 2HE)| KT o ¥ 0” X2 (el mel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 6,500 10,020 A3,520
01 At2teltl 6,500 10,020 23,520
Odgt+=ZH| 6,500
ocsHESI| 22 FU 2 =% NH
80,0002 2004 A 1,600
oEHSI| LAY £2F 2
5,000 x80& * 122 4,800
oSHSI| MHE M Mars = of
M === 1,000 %1002 100
301 LEetE N = 4,500 9,600 A5,100
14 JIEt2a=S 4,500 9,600 A5,100
OdgHIl= e85 &1 a3
60,0003 *7521 4,500
Y2 AU (KR =) (O1EHIIE) 95,787 99,617 A3,830
el 2| 20,347 20,298 49
el 2dd| 20,347 20,298 49
101 @12A4H| 20,347 20,298 49
RECEESPTIEE RS 20,347 20,298 49
OAZtel2Ray
15,5443 %2 H+20 A 2H+ 12 x150% 11,192
OfY2eLg 9,155
oHESBHET X
188, 1603 x 12 *20& 5,457
oMl S-EI N
184,880 x1&»20! 3,698
Jl=2dsl 75,440 79,319 A3,879
JI23Hl 75,440 79,319 A3,879
201 et 3| 43,647 47,806 A4,159
01 Al 22| 30, 181 32,843 12,662
OYLBtEEH| ZoUH A
7,075,000+ 14 7,075
O=gHl 23,106
oRNEE SEHl SHAY
13,082,000 x 14 13,082
cME - SASR HIIE SYSI| ZA(S
HE E2=4H) 10,024,000 * 14! 10,024
2 S5=24g4l 13,466 14,963 A1,497
O=52= € MAl S9N
13,466,000 » 14 13,466
202 04dl 26,993 27,313 A320
01 =LHNHI 15,473 15,793 A320
ORANEY SHAY 10,673,0003 *14] 10,673
OdEHIIZ SYSI| NEES 2U04]
20,0002« 1 *102* 122 2,400
OngEs(HEZS, WA, S0/1H)=+H
2L O8] 20,0002 x 1 *10L 122 2,400




2N X2=ght
Zo: YHSAAHI (G2 OIEHIIEH
oel: D23l (SH &)
- _ olE|
SA - B S(BH) - MISAY - BAS Ofl kot OE”E& HR=2
02 EHMHI 11,520 11,520 0
QU223 AIZE K& S
160,000& 3 x 128 5,760
QHDIZ2 S8 A& ts
160,000 x2%H 128! 3,840
o138 MM XE o
160,000& 1Y~ 128 1,920
203 E2=&IH| 4. 800 4 200 600
04 EASHP 2K 4,800 4,200 600
OX& =21 (26H) 400,000 128 4,800
MEES (K= (2H/HDII2) 75,000 75,000 0
= NS 75,000 75,000 0
LHEHHKI&E 75,000 75,000 0
02 J0|12NE2 75,000 75,000 0
(IS ESE = 75,000 75,000 0
OHIII2H2IAE =HIY =0IX/AIN2(E
ANEHII2 SeHeIAlY FHIH)
75,000,000 * 14! 75,000




